I
I
1
I
I
1
I
1
1
1
I
I
1
1
1
1
I
I
!
1
I
U
1
I
1
1
I
¢
1
1
1
t
I
1
1
1
1
i
|
I
I
I
1
1
I
1
1
1
1
|
I
I
i
I
1
I
|

{

I

1

I

I
I

1

I

1

I

I

1
1
I
§
I
|
i
1
I
1
1
1
I
1
1
I
i
!
1
1
1
I
I
i
1
1
I
I
1

o

1
1
1
1

AnSWEers

suidance on the breakdown of marks is given in brackets Within the questi
ons.

er 10
P,abﬂ'r 71 707 17 071
! 3 41 4.2. and 4-"I circled 42 = 442, 4)_ 45 43 2
2 459273 9 7 2 42 =4.75, 4§ = 4.66, 4% =4.44 (1) for each 2 correct
J5years MMXXXV/=2035 (1) MML = 2050 (1) 2050 _ 5035 - 15
3 c4 degrees —18 lCc; ‘gg % 2
21ci 50p, 20p, 20p, 2
2p and £1.21 circle P (5Up, 20p, 20p, 2p) £1.21 £1,1
5 343000 i ( Op, 10p, 1p or 50p, 50p, 20p, 1p)
g % Multiples of 7:28,84, 112 and 161
; ds 1455+ 18s-11s=
2 minutes ?12 secon ! 11s=1525(1) 152 sec ds = i
g 5.40 5 minutes + 20 minutes + 15 minutes + 60 minutes + 15 r?qri‘nlsjtesz=m1|?gtrisi:jt:?a?ds )

- 3
-

12

13

14
15
16
17
18

19
20

21

3:45 + 115 minutes = 5:40 (1)
7 m+7()=5n(1) 5n-4n=7 n=7(1)
3a+3e+ 11

| 3a+3e+11 ]
'—ga+e+4 Ze+7j

3a+2 [ 2+e .

3a 2 e

5

—I (1) for each correct row
500 pieces  Area of quilt: 400cm x 300cm = 120000cm? (1)  Area of small piece of material: 20 12cm =
240cm? (1) 120000 cm? = 240cm? = 500 (1) (1) pi of materia cm X 12cm
(1) for each 3 numbers correct

21914

7/5|3

6|1|8
4 28sweets = (4 + 3) = 4 sweets per part (1) 4 - 3 = 1 more part, so 4 sweets (1)
£536 £670 x 10% = £67 (1) 20%is £67 x 2 = £134 (1) £670 — £134 = £536 (1)
3litres 47km + 58km + 28km + 47km = 180km (1) 180km =+ 4 days = 45km/day (1)
45km = 15km// = 3 litres (1)

8A 6A(1)+(4><§A) (1) =6A+ 24 =8A(1)
é%%or% 60 + 40 + 70 + 30 = 200 (1) Probability of a red = %: % (1)
£541 3x£1.15=£3.45(1) 2x98p=£196(1) £3.45+ £1.96 = £5.41 (1)
Not a multiple of 3 41,17
Multiple of 3 27, 21,1885
Multiple of 4 Not a multiple of 4
68.24 136.48 + 2
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| —1

O
L —

L1

f

34—
_"____/;_,4.—-4._——-’
) ’__'_’______,__,——4_-———-4
| x—
1 2 3 4 5

23 2 A8 cancels to Z

5 120 o
24 certain Wednesday will definitely foll

25 365ml
26 24.5cm 2.45cmx 10 = 24.5cm

27 32cm? Area= base x vertical height, 8¢
28 100 087 x10= g7(1) 870+ 8.7 =100 (1)
29 17178 2863 x6

30 1456 8736+6

31 22+ 10a 2ax(a+ 5) (1) =242+ 10a (1)
32 T T

ow Tuesday

7

L
/

— [ N VN

/]

mx4cm = 32cm?

/7

:i 2 161f (1) for each of the criteria satisfied
) for each correctly placed number

Class 4H

Rounders
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5 215 275+ 78=353(1) 568 - 353 =315 ()
3 : 1 hour 20 minutes is 4 x 20 mi ; '
miles X inutes; 32 m _ '
* ﬁwur is 3 x 20 minutes, 3 x 8 miles = 24 miles (1) fles + 4 = 8 miles (1)
14°C  Highest temperature is 17°C (1)

Lowest tempe -

37 115° 90° + 55° + 100° = 245° (1) 360° - 2450 _ 19‘5'-3?:;38 is 3°C (nH 17°C - 3°C = 140C )
;g £3.43 180p +95p + 68p = 343p

1 40 1710 S

AR

i L —

' 40 {1200} 320 |1520

1] A

: 5 | 150 | 40 | 190

] S

i 1710

1

1 L

1

1

41 45° 105° - 60°
42 450pm 7:30 pm - 2 hours =

530 pm (1) 5:30 pm = 40 m
- Inut =
3 (34 @ 1) (6.5 (52) (1,2) (1) for each pair of co =
1

4 5 3(2,4and6)outofGnumbersso%“) =%(1)

nN

. 4:50 pm (1)
-ordinates in correct position

45 5026m 32km =3200m (1) 3200m + 1826 m = 5026 m (1)

46 37 children 7+12+5+6+7 (1) =37 (1)

48 W=-1 8W+12=4W+8(1) 8W-4aw=8_1; () 4W=-4(1) we-1(1

49 675 49+35+109+78+38+0+145+5 4 189+27=675(1)( )675a10=(6)75(1)
50 1200-1300 The steepest part of the graph ; .

paper 11

(d) 88237 this number is rounded down to 88000
(d)25 10km =10000m (1) 10000m + 400m = 25 (1)

(d)361 3 flashes a minute (1) x 120 minutes = 360 flashes (1) one flash at the beginning, so 361 (1)
(e} 24 p + c =32, where p is the number of pigs

-

PW N -

and c is the number of chickens (1) 4p+2c=80(1)
Solve by trial and error or rearrange first equation (c=

32~p (1)) and solve the second by substitution
(4p +2(32~p) = 80,4p + 64— 2p =80, 2p = 16,p = 8 (1) soc=32-8=24(1)
(e) Kite because it doesn't have any parallel sides
(c) Tuesday will follow Monday.
{(b)69 92 +4=23,23x3=69
(b) 2848
(b) 86
0 (d)y=x-3 (1) for at least 2 pairs of co-ordinate values
x |-2{-110|1]12]|3}(4/|5

Y {=-5|-4|-3|-21-110 |11} 2

- O 0NN

11 (a) 15boys 8+ 3 =11 parts (1) 55 children + 11 =5 (1) 5x3=15(1)
12 (a) 10litres 15+ 1= 16 parts (1) 160 litres = 16 = 10 litres (1)

13 (d) 68% %:%(1) e =2~ 68% (1)
14 (e) 26.78
15

(a) 144cm  Side length of square is 18cm, so side length of equilateral triangle is 18 + 3 = 6cm (1)
Perimeter of this shape is 6cm x 24 = 144cm (1)

16 (b) 360 pages 135 + 3 =45(1) 45 x 8 = 360 (1)
17 (3) 196m 28 x 70 = 1960cm (1)  1960cm + 100 = 19.6m (1)
18 (b)84 4 and 7 are both factors 28 exactly (4 x 7 = 28) (1) 84 is a multiple of 28 between 80 and 90 (1)

- e e A e e e WS G e we e e me
e
K - - -
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19 (c)54° Corresponding angles are equ

al (1) Angles on a straight line are 180°, 1800

T 126° < 540 (1)

X/1265

20 (d) 46° Corresponding angles are equal (1) Angles in a triangle add up to 180°, 180° ~ (95° 4 390)

/

A

5>

yO

39°

Y

39°

21 (b) £621
14
22 (d)1—5

7
23 (b) 1*2—6 1

18, 10
30%30
15

B
-

() =2m=20
8

7
20~ 20 (=155 (1)

$900 + 1.45 = £620.68 (1) Rounded to the nearest £ = £621 (1)

24 (a) 16 403 parents + 26 seats = 15.5 (1) 16 rows needed (1)
25 (b) 11.25 miles
26 (a) £474 158 x £3
27 (c) 225 15x 15
28 (a)1,2and4 Factorsof 20:1,2,4,5, 10 & 20 (1) Factors of 36: 1,2, 3, 4, 6, 9,12,18 & 36 (1)
29 (c) 125 (1) for evidence of working out 33 or 42

30 (c)251 452 -63 =389 (1) 640 -389 =251 (1)

31 (d) Hemisphere
32 (b)24 9-5=4(1) 4x6=24(1)
33 ()15 §=12—7=5(1) y=5x3(1) =15(1)
34 (d)5(w+9)=60 (1) for (w+9)seen
35 (c)256 Each previous number is multiplied by 4,s0 64 x 4
36 (b) 1416
37 ()72 (1) for each of the criteria satisfied

18km + 1.6km

38 (a)9
51
22 29 (2)
9 13 16 (1)
3 6 7 x=9 (1)

39 (d)4 367 remainder 4
40 (d) 2680ml

41 (c) 4m/s Speed = Dis
42 (910 w=3x(1) =
43 (g7 99 -9 = 36 (1)
44 ()5 45+37=3(1) 45.

45 (a) 71

46 (d) 183

The difference bet

47 (b)8x6 8x6=48
48 () 112 112=8x14 (1) and 7 x 16 (1)

49 (e)57 (4+3x9

=12)x3(1) (4427

50 (a)28 18+6x2-2(1) 18+12- 2

tance (100 m) + Time (25s)

3x+3=x(1) 3x-x+x=30,x=10(1)
9a =63 (1) a=7(1)

15=3(1) and 5x3=1550j=5(1)
ween the terms decreases by 1 each time

~12)x3(1) 19x3(1) =57 (1)
1) 30-2(1) =28(1)
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S ‘E"P=%§y(;) Cost of pear is 80p - (2 x ity

: -233!-"1934(1) .

=80p - 52p = 28p (1)

,'.Iv'_a )
) 7%5-—7=28(1)

SW=23°C —2gec
- 79°C
hv
36km x 10 = 13.6km (1)
1) =216 +36= 6(1)

1) = E(U

4. 5
“& 1 §§6(1)=T12(1)
=00 120

12+9=13(1) 2y=13+5=18(1) y=9(1)

.

e -F. i i | e
0 5 J
¥
0 :
1 : -
e | | -
; )
1 o
i | .
' - -5 -4 1 |
1 - :
1
: ,
g 7 i ﬁ
l ”'
1 e 3
i :
1
i L N
1 777 o |
Z 7/ i
4 3 SLEu.

(1) for each correct quadrant

50.24cm  diameter = 2 x radius = 2 x 8cm = 16cm (1) v
circumference = 3.14 x diameter = 3.14 x 16cm = 50.24cm (1)

2 litres 24 x 330ml = 7920 ml (1) 7920ml + 1000 = 7.92 i
tcm?  top / bottom part: 10cm x 2cm = 20cm? (1)  20cm? x
‘middle part: 6cm x 4cm = 24cm? (1)  total area: 40cm2+ 24cm? =

matics Practice Papers 2 published by Galore Park
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1 s .
i = = x base x vertical height = 1
19 54cm? area of rectangle: 9cm x 4cm = 36cmz (1) areaof triangle b ight 5 X 9cm

- 2 (1
sem =} x 36cm? = 18em? (1) Total area: 36.cm? + 18cm? = S4cm? (1)
2

= kg (1
20 68400kg Mass of people and luggage: 140 x 90k§ 1;03) i 6‘22) g (1)
Total mass = 41000kg + 14800kg + 12600kg = 6 g

21 g or -;- 4 prime numbers: 2,3,5and 7 (1) 4 chancesin 8 ()

22 7 Vi6(1) + 8(1) + 25(1) = V49 (1) = 7 (1)

23 g .

24 8 t+b =22 where f stands for tricycles and b fo
b=22~1(1) and substitute into the other to so

25 18 days 12+§=12xg(1) =36+2=18(1)

26 £22.52 £39.99 + £17.49 = £57.48 (1) fSC; - (51*")7'48 = £2252(1)

27 2,6and8 2+6+8=16(1) 2x6x8= _ -107=1(1

28 1 5+4=(107+__)=+12(1) 9=(107+__)+12(1) 9".12;t1e?f;lgiand+z @

29 78 look for a relationship between the differences or multiply RS emt o 106° (1) 180° on a straight ;

30 74° 62°+88°+ 104° = 254° (1) 360° in a quadrilateral, so 360° — 254° = raight line, s,
180° - 106° = 74° (1) .

31 4 minutes Each frog takes 4 minutes to catch a single fly " — < G 1 s ]

NPUREILET m use 5 litres
32 4% litres 80km uses 3 litres of fuel, s0 40kmuses 3 + 2 = 12 litres (1) an 2 ()

33 £10.10 £759 (1) =+ 75 (1) = £10.12 (1) = £10.10, to the nearest 10p (1)

34 28children 336 (1) + 12 =28 (1)

35 138105km 142984 km (1) — 4879km (1) = 138 105km (1)

36 15:31 4500km:9300km (1) = 45:93 (1) =15:31(1) y

37 325cm 3+4+5=12parts(1) 78cm=12=65cm (1) 65cmx5=325cm (1)

38 653cm® v=3.14x (4cm)? x 13cm (1) v=653.12cm? (1) =653cm? (1)

39 4 2130+ 15=142

40 9 844 +659 = 1503 (1) 1801 - 1503 = 298 (1) )

41 28° Angle a = 180° — 40° = 140° (angles on a straight line) (1) angle a = angle w (parallel lines) (1)
angle y = 140° — 112° = 28° (1) or alternative method

: =52 (1) Rearrange one equat;
r bicycles (1) 37+ 2b Quation
lV@le"‘Z(ZZ_t):SZ (1) 3r+44 -2t = 52‘1:52.—4428(])

2 1467240°
N\ D 40
\ o )
N pANADZ
\ e 4 140?5; N
NA L [T

42 3 6v-6=36-8v(1) 14v=42(1)v=3(1)

43 555 (1) for each of the 5 ways to score 6 seen or total of 36 combinations

44 13 8+5(1) =13(1)

45 32 Use the inverse operations: So 7[ X |2 (1) = 14[+]6 (1) =20[ = | 5 (1) = 4[ X |8 (1) = 32

46 54kg 8stone7lb=8x 14lb+ 7lb=112lb (1) + 7lb = 1191b (1) 119b+2.2= 54.09kg (1) = 54kg (1)

47 1m55cm 5 feet 2inches = 5 x 12 + 2 = 60 inches (1) + 2 inches = 62 inches (1) 62 x 2.5 = 155¢cm (1)
48 54litres 12 x 4.5

49 4cm A=%xbxh,so12cm2=-;-><bx6cm(1) 3b=12cm (1) b=4em(1)

50 6cm A=bxhsod45cm?=75cmxh(1) h=6cm (1)

51 12:56:24 09:45 + 3 hours = 12:45 (1) 12:45 + 11 minutes = 12:56 (1) 12:56 + 24 seconds = 12:56:24 (1)
52 4x6=24(1) 24-7=17(1)
53 y(y+8)ory?+8y

54 6x + 2y Area of larger rectangle: x(y + 6) or xy + 6x

Shaded area: (xy + 6x) - (xy - 2y) = 6x + 2y (1)
55 2r-3 6r2+3r=2r(1) 9 +3r=3(1)

Mathematics Practice Papers 2 published by Galore Park
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m 8km (1) from home  8km back home (1)
56 16K both History values correct, (2) for both Geography values cor

rect, (1) for missing Languages and Total correct

Number of

children Angle size

vanilia =60° x 12 + 48 = 90° (1)
e 14 1360° x 14 = 48 = 1050 (1)
Chocolate 15 360° x 16 = 48 = 120° (1)
e 2 |360°x2+48< 15 (1)
e 4 |360°x 4= a8 <305 (1)

CC p|ant height

Tally Frequency

20-29 Rl 7 (1)
30-39 i 6 (1)
4049 | 6 (1)
5059 L 11 7 (1)
60-69 il 4 (1)

60 % (pink vest , pink shorts),(pink vest, purple shorts), (pink vest, yellow shorts) (1) (purple vest, pink shorts),

(purple vest, purple shorts), (purple vest, yellow shorts) (1) (yellow vest, pink shorts) (yellow vest, purple
shorts) (yellow vest, yellow shorts) (1), 9 different combinations (1), 1 is pink vest, pink shorts (1)

122 Multiply the previous term by 3 and subtract 1 or work out and continue the pattern of differences

(+ 1,4 3, + 9, + 27; the difference is 3 times bigger each time)

15 y=52~- (3% 5) +5(1) y =25 - (15 + 5) Applying BIDMAS (1) y=25-20(1) y=5(1)=10+5(1) =15(1)
5 6/-6(1) =4/+4(1) 2/=10(1) f=5(1)

=45+ 30n

18 miles £9.50 — £3.20 = £6.30 (1) 630p + 35p = 18 (1)

10km

(=)}
=y

(o2 Q=2 00 =2 I = W = )}
DS WN

184

16

14 -

127 -

o
1

Kilometres
o
1
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2) for plotting all co-ordinates c
r at least 4 correct orrect|
or (1) fo rrectly drawn Y or (1) for .

ect,
corr (1) curve 0

.ordinates
° d correctly,

7 (2) for all co
67 (2) dinates plotte

least 4 co-OF

X 1-3 |]-2 |-1]o |1 |2 |3

y |41 |4 |5 |4 |1 |-4
en each term is 8 (1) sonth term based on 8z (1) When7 = 1,8n = 8 and first term :
is

68 8n -3 Difference betwe

5 which is 3 less than 8 (1)  #th term is 8n-3(1)
69 3n+1 The number of matchsticks in each diagram increases by 3 ( 1) sonthterm basedon 3n (1) When
n= ‘]'

35 = 3 and first term is 4 which is 1 more than 3 (1) nthtermis3n+1 (1)
70 100 each term squared gives the number of triangles (1), so nth term is n? (1)

Paper 13
1
[\ ! 1 ’]
Kl \j .
fK{\\ N | & L
HNZON
N |
7\
| LI
AT
/ N\
| k
L7 | \\j
(1) for each of four correct lines of symmetry
2 171
5
22
3 £2=0666(1) 0 2
53 333 £=0222(1) 024 23%= 26
I 5 3% =023 25=0325(1) §=o.285 (1) so§(1)

458287 400000 + 58200 + 87 + 6000000 (1) =6458287 (1)
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24

25
26

27

28
29
30
31

£165% 5= £8.25(1) £1.89x4=£756 (1) Total spent: -
é;-:ngge: o £1681 = £4.19 (1) pent: £8.25 + £7.56 = £15.81 (n

15 boxes needed (1

£9.25 1 packet costs £555+3 =£1.85(1) £1.85x 5= £925 (1)
The bar chart shows only 48 childrennot 50 (1) 8+ 11+9+ 14+ 6 = 48 (1)
6056 litres 2271 litres + 3 =757 (1) 757 x 8 = 6056 litres (1)

m? length + width =32m + 2= 16m, 16m + 4=4m (1) so width is 4 ) ]
:rsea=4mx12m=48mz(1) ) is 4m and lengthis 4m x 3 = 12m (1)

-35
£3499.99 £3500 round up to £4000
200 56+ 28% (1) x 100% = 200 (1)

5 12 8 6 3 . 29 5
%2 ﬁ(1)+24(1)+24(1)+24(1)_2 _124(1)
even (1) for each correct example, up to 3 marks

121 posts &rails 31 posts (2) [award (1) for 30 posts] 30 gaps, s0 30 x 3 (1) = 90 rails 31+ 90 = 121 (1)
x=4 (2)for8intop right corner

6kg 3c+4k=20 (1) and 5¢ + 6k = 32 (1)
20 — 4k (1)
3

Rearrange: € =

substitute and solve to find k: 5 ( Q—;—“k) +6k=32(1) so

1@%0’%&:32 100 — 20k + 18k = 96

2k=4k=2 20—4k 20-8 12
substitute to findc: ¢ = 3 s = == 4
c+k=6(1)

50 years 5 years elapsed for 5 cats = 25 years (1) 25 years + 25 years (1)
s¢1)y 3(1) 1(71)

8turns Distance travelled by wheel in 1 turn is the circumference: 3.14 x 20cm = 62.8cm (1)

Number of turns in 5m (500cm) is 500 + 62.8cm = 7.96 turns (1) 8 turns &)

210° Minute hand turns 90° in 15 minutes (1) 90 + 3 = 30° in 5 minutes (1) 90° + 90° + 30° = 210°
600° 360°in 1 hour (1) 180° in 30 minutes (1) 60°in 10 minutes (1) 360° + 180° + 60° = 600° 1)
6854

720 6x5x4x3x2x1
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mbers if Xis incorrect

7x6 u
:; IBYB.E 2 8();) for each two correctly p!aced

12| 1[14| 7
13| 8/11] 2
3/10| 5[16

== _gj i 22 children pé
34 13 176 children + 8 dinner ladies =

r dinner lady (1) 286 children + 22 children pe, dinne
:

65 days + 10 cleaners = 6.5 days (1)

- . = d(1)
dy = 13 dinner ladies requiré . S (1) .
% :;s):iays 13 deaners x S G L 00 gﬂr'gzrgndf);zfzmar7.7km=z416 kmz(,l)borzc?esrg::;z:‘”km (1)
36 41km 34km+43.1k;n+3i§r’:71; Available area is 10m X 12m (1) und the pont.
37 48m? 5m+ 10m +2m= )
dimensions 6m (1) x 8m (1) = 48m (1) -
r r Swimming{
pool
2m 2m
1Zm -
18m ém  +
4 2m
28m
"]
% 7
| D
EBENE
HE VNN
1 ' 1 1 3 4
X N3
| D
4 11_7
13 13 13
40 10000

|
i
|
|
i
1
!
i
1
!
!
i
]
1
1
{
1
1
1
I
I
41 2000mor2km 8 x250m ,
42 Speedy Bites Quick Food: £4.75 (1)  Speedy Bites: £4.69 (1) Zoom Munch: £4.71 (1) Speedy Bites is cheaper (1) :
1
I
}
f
{
1
!
)
i
i
I
1
)
)
[}
i
{
]
1
]
]
]
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R

E
un

EHERE

50
1

wy

2
3

i oun

i

'

1

i

1

I

!

'

'

1

!

1

1

!

)

1

i

I

'

1

i

]

1

!

1

1

i

1

]

|

1

i

1

i

1

i

'

1

i

1

'

1

1

1

i

1

1
:54
1 55
:56
v 57
1
]
1
1
I
1
'
1
1
1
i
1
1
i
1
'
I
]
'
!
1
'
1
1
'
i
1
1
i
1
1
!
'
I
1
1
1
'
1
1
1
|

58

[

go Anglesat centre: 360° + 8 = 45° (1)  All internal trian

gles are isos o ate
. 2=67.5° (1) Alternative methods are possible celes, so 180° ~ 45° = 135°(1)

67
135°

67.5°
1
% possible outcomes: HH, TT HT, TH (1) T (1)
% 24+8 + Btickets = 40 tickets (1) 75 (1) =1 (1)
29.24
Not accurate, 500 x 10 = 5000
-23

pound to nearest 1000, 45000 supporters

(‘g) (1) for each correct number

5 T+ F=79,where Tis a 3-eyed alien and F is a 5-eyed alien (1 = =79~ =
2325(1) —3T+395~5T=325-27T=70,T=35 ()1’) W SPrSFesBfl) FepielawEgI=T
16days 8x6=48days (1) 48+ 3 =16 days(1)
grolls Area of one sheet of toilet paper: 12cm x 11cm = 132 cm2 (1) Area of one roll: 132cm? x 220 =
29040cm? =2.9m? (1) Area of garden: 5m x 5m = 25mz (1) ‘

Number of rolls needed: 25m2? + 2.9m?2 = 8.6 — 9 rolls (1)

£357 £35x 12 =£420 (1) 15% of £420 = £63 (1) Cost for year: £420 ~ £63 = £357 (1)
£132 Cost: £59.40 + 90 x 100 = £66 (1) £66 x 2 (reduced by 50%) = £132 (1)

125cm 5 feet 2 inches - 4 feet 9 inches = 5 inches (1) 5inches x 2.5 = 12.5cm (1)

Pasta: 3758 + 3 =125g x 5=625g (1) Quiche:270g + 3 =90gx 5 = 450g (1)

1 , 1
Vegetables: 15 cups + 3 =S cupx 5 = 25 cups (1)

y
[
i 5.
[ 5
!
ff 4
| 1, O
i
i 2
T + 2|0 ° 112 3 4 s 7%

— 2.

3
T 5
I
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59
£16.20 348p 4 25p + 175p + 54p + 18P ¥ 0o 60

60 Ruler, Ma 20+ £71.
» Map, Pad of paper 56p + £1.
61 16.63 e 4

62 364

63 2x2x7
4 9

6 o

4 23 14 %

65 BandD

8 4
?(1) =%?(1) =222 (1) ’27(1)

s - illion km
66 Saturn and Venus 1425 million km — 108 million km = 1317 mi

67 10DVDs £3.99 x 10 = £39.99
68 7 3 4 5

69 4 When’tux:neci the shape will look the same on 4 occasions _
70 200m 1000 + 25 = 40'l)engths (1) 15+ 10 + 7 = 32 lengths swum (1) 40 - 32 =8lengths (1)

8 x 25 = 200m of backstroke (1)
66
71 1. — = 1.98km
1 1.98km 3km x 100

72 8th April, 29th April
73 B5

[T 1T,
7 R

> Finish //
4 G
34]
AN
NN

A B C D E F G H

S | | J

impossible Even chance Certain

13 out of 26 girls have long hair% (1) Correctly marked on scale (1)
75 9x6=54(1) 6x9=54(1) 54+9=6(1) 54+6=9(1)

k
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(1p x 18) + (2p X 26) + (5p x 17) + (10p x 15) + (20

76 g:’isasin + £1.50 + £1.60 + £2.00 + £20.00 + £8.00 = £34 essp()s()gf)c:t(hsop ) (1 20) 4 (£2 x 4) = 18p +

Correct totals of two coin types, (2) for correct totals of four coin types (g)cg:e:;rlnatl gy ‘incourrect (1) for

co et otals of eight coin types ) ct totals of six coin types, (4)
m — ~ | . ]

T —

| / 3

T I -

l 2

!_‘_,,-—4”"'““‘—-‘ Z

Lﬂyﬂ"‘ :

il

‘? - B 2 ~ 0 p 3 4 5

3 l‘_,_,,k 2

1L

78 S minutes 30 sect?nds Jensen will get through on his third green light (1) 2 mi
agreen light, 2 minutes X 2 = 4 minutes + 1 minute 30 seconds forgthir(d ;reennl]i;]hutt?i)elapse for il froads o have

a = ° _ 60° = o o
79 25 Angle A =180 60 120 (1) Angle B =180° - (1200 + 400) = 20° (1) Angle w = 45° — 20° = 25° (1)

A
80 MATHS IS COOL
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